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st.| X | K| KB | gy |BBRISs 2 x| amey | seobas
| 4L — JTATIR F =4
0-5 20 - -
2 0] 16.84| 31.34
1] 16.83] 31.32 20 - -
10:12 5| 16.81| 31.33] 155 40 - 0.02
10| 16.80| 31.37
15| 16.81] 31.40
20| 16.81| 31.42
B-1| 16.81| 31.43 30 - -
0-5 - - -
4 0] 17.00] 31.36 10 - -
1] 17.01] 31.36 - - -
5| 17.00{ 31.35 110 - -
10| 17.00{ 31.42 10 - -
09:41 15] 17.01] 31.46| 12.3
20| 17.03| 31.50 60 - -
25( 17.04f 31.53
30| 17.04f 31.53 10 - -
35 17.05[ 31.54
40| 17.05] 31.54
B-1] 17.05] 31.54 - - -
0-5 40 - -
9] 0| 16.81] 31.30
1] 16.84] 31.33 20 - -
5| 16.89| 31.36 60 - -
10:40 10| 16.87| 31.40| 120 90 - -
15| 16.96| 31.46
20 16.99( 31.51
25| 17.01f 31.55
30 17.04[ 31.58
B-1| 17.26] 31.74 60 0.14 -
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